250 SX-F 2011 <2011><US><8175K5>

CLUTCH COVER
10714

Pos Part Number Description Additional Text Quantity
3 49030090000 DOWEL 9,8 X7 X 10 FS-E 2.00
11 0025060406 HH collar screw M6x40 TX30 1.00
12 0025060356 HH collar screw M6x35 TX30 1.00
21 61030019050 CIRCLIP OIL LEVEL GLASS 03 1.00
22* 59030019100 OIL LEVEL GLASS 1.00
25 77030025100 GASKET FOR CLUTCH COVER 05 1.00
43 7703000124415 CLUTCH COVER CPL. 1.00
53 0025060306 HH collar screw M6x30 TX30 2.00
58 0025060256 HH collar screw M6x25 TX30 10.00
61 7703002630015 CLUTCH COVER OUTSIDE 09 1.00
62 77030027000 MOLDED RING 05 1.00
64 0025060556 HH collar screw M6x55 TX30 3.00
65 0770191015 O-RING 19,00X3,00 NBR 1.00




66

58030120000

OIL FILLER CAP M24x3 W. O-R

1.00

67

0603061001

CU-SEAL RING DIN7603-6X10X1

1.00

* = New part




